Selected answers to homework problems.

Lecture 7

CH3CHQC H2N H2 H3CH QC_N_CHZCHS H3C HQCHQC—N—CHg
15.19 propylamine diethylamine N-methylpropylamine
15.20 Answer in book

15.21 (a) butylamine, primary amine (b)isopropylamine (primary amine)
15.22 Answer in book
15.25 (a) metylammonium chloride (b) N-methylanilinium bromide (c)
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15.32 Answer in book
15.43
a. There are six possible amines for the given formula
HsC HQCHQC_H_CHQCH3 HsCH H_CHZCHS H3CH.C HZCHZC_H_CHS
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b. There are many possible tertiary amines. Here are several of them:
HoCHs

€ N—CHg H30<>\1—CHQCH3 HoC=C—N—CH,CHs



